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— 21970 PPN
And the city of 1YopwN is considered to be south of HXw X,

OVERVIEW

The nwn mentions three cities — NPWR ,(73mM) op7 and DY - which are
considered 0’1 N1, indicating (seemingly) that they are in '>™. Our n2oIN
will prove that all these three cities are in °"X. Why then does our miwn
consider them *";771 -2"1? moown will give two general explanations. The
first one will explain why these three cities mentioned in the 7i1wn are not
*"X, despite NMvOIN original proofs. The second one will maintain that even if
they are part of *"X, nevertheless they are considered *"777 as far as 1"95211"92
1s concerned.

nvoIn asks:
— N HNIY NINND POPYUNRT 0N 1929 DYPN

The n'"1 asked; }7opwN is part of 'R, so how does 777 " of our mw» state that
117PWR is south of *"X and considered 5".

The n"9 goes on to prove that Y9PWN is part of >"X:

—INYPYNRM MNTYUNRND 999 HINYIN YIND HNT (0) YWINA 29N5Y
For it is written in the “ywym X1 (that "7 said to yw); ““this is the
remaining land (that was not conquered yet by the X% °12) etc. (and the
P09 enumerates and mentions) the cities of TTWR and N9PWNR’’ -

— PO TYNR AN INIYIY 09D 250

And the piep states:® “divide this unconquered land amongst the "33 for
an inheritance as I commanded you” -
— ND13) NN POPYN NN NTY DX NN 719D (x) DIVDIVA 29NITD I1NITIY 15 9NN
And indeed afterwards the *"12 conquered these lands as it is written in
the ‘awow x21: “and 779 VAW conquered Y and }pwX and their
surrounding areas™’. From all this it is obvious that 7%pwX is part of >'X, why then

' The o>xan of the mawn lived in *"X; referring to any place as 0’71 n*7», indicates their status is "11.

2 3-2 % yur.

3y v ow.

*m X D°vomw, the text there reads: "3 72123 NRY PPPWR DRI T2123 DRY 7TV DR 77 71900,

> Mmoo could not suffice with just quoting this last 70, for perhaps 77 conquered cities that were not
part of »"X.
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does the mwn consider N7PWR to be >"77177.

N1B0IN answers:
- INY 193 533 () POINT KNP P93 TINTI 1WA XY Y33 9997 B 19939 9N

The n''1 says that the >"12 who went up to >"X from %22 to build the second
P"n1a did not conquer N7PWR, as the X) says in the first paz of 1o,
concerning the city of ®jxw n°a -

— 933 %9 DIVAS KDY D981 Y NIYAD D995 NaIN
There are many cities which the °"12, who came up from 2°9x» to °"X in

the time of Y17, conquered, but the %22 %y did not conquer (some of)
these very same cities -

— QY PP D91 5N PRY DY PHEN DN 15N PR 7199
And therefore® since they were not conquered and settled by the 22 9, so
in the time of the mwn, it is not frequented by *a 231 >7°m%n and there are
no established 2°397 N2 in these cities'’.

mooIn has another question:
— NIND ANIN NNT RON ¥HIWN DN DPIT NYP DaN
However, there is another difficulty, for it seems here in the 71wn that ap-
=3m are part of 5"
—9N9) N3 VTP NN VTP () YWINA 29NN
But in the ¥ X°21 it is written: ‘and they set aside the city of “w7p in

551 W1 to be one of the vopn ™y (in the *»93). This teaches us that wTp which
seemingly is op7, is part of *"X.

mooIn responds to an anticipated resolution:

% The X3 there states that *27 permitted the people of 18w n°2 not to give P wyn. The X3 asked but n»2
XY is mentioned in YW w123 as part of *"X; to which the X3 responded that 922 7w 1mwad K°.
7 Since the %22 7w did not conquer 12pwX, it does not have the 7w17p of *"X (for the first 7w1Tp of W3
YW1 ceased), therefore the n"n chose not to live there because it is considered "7 and one should not
leave "X to go to 2"
¥ It would seem that by adding this phrase, M2o1n is insinuating that (even) according to 0" nv*w, a place in
5™ (that 922 °219 Mw3ad RY) that is 771 1°5W need not say ¥"¥1,1"52.
? This necessitates saying 1"53 according to the reason of 7w PX°pa PX.
' This necessitates saying 1"92 according to the reason of ¥2p% T13n D*7v PX.
""" This can be deduced from the fact that "1 requires to say 1"92 from 73m op1 and 777 " states that op
mArnd.
2 As *"w in the opn 7" mawn points out that the 210 of (N3mM) apA is (7127) WTp.
3 The p109 in (1,9) YW reads: 2091 172 2932 WIp DX WP,
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— 933 "5y NIYAD NYT 9199190 NI

And we cannot say that the %22 " did not conquer op7, as we previously
stated concerning N2PWX -

— 92439 WAV D995 2113 M 0P YN aAPY NN HYH9] 99017

For in 5920 in 3py nw=p he includes 253m 2p9 amongst those cities which

were conquered14 by the 922 9. The question is; why do we say in our 73w that
23 apn are considered 7" n?

MDOIN answers:
— 11 9N DDA 2INT D YN
And one can say that there were two pairs of cities that were named 2p9

=AM, One pair was in *"X (the one referred to in the »90), and one pair was in 2" (the
one referred to in our 7Iwn). MOOIN continues to elaborate on the necessity to say that
there were two 7am op7, even without M99 original question.

— (®a mwx11) MY 122 VTP 1°2 2W ©N9AN 22) 29097 9N 0P IINY
The =3m 29 that is written in the 770 concerning 11°2X 2779aR, where the
770 writes “and 07772R settled between @R and M’ -

— DYNYY 791 TY2ANR HY ININD XN 1929 DP9 13 19903990
which the 21390 translates as ‘between 2p9 and X9an’ that was in the land
of 792°2x the king of 2onw®s -

— HNAY YIND 1997 15D PN BNIANT RNINDNT INIYS YIND 15D 1NN
And that 37 op7 was in °"R for it is assumable that a7max and ®prxe
lived in *"'X -
— 9NV NINND DONYYOT YNWNM 1) YWINI
And in the w7 X021 it is also indicated that 2snws is part of '7>"'x -
— 1299192 DINVYYST INIYS NIN YW N9 D150 9N BP9 INN)

And this =23 ap= was in the western part of »''X, for 2°nw®s is in the west
of "X -

'* The fact that Moo is not satisfied with merely citing the *790, but insists on quoting the P09 in YW,
may teach us that w12°2 through 921 °2w without ¥ w12°3 will not qualify a city to be considered *"X.
%1% p105 reads: 1732 N WY P IR P2 2PN 2337 TEIN DTN D@ vEO.
' For it is forbidden to leave *"X to live in "¥1. M5OI mentions Pr¥> because we find that prx° lived in 273
(0,52 M791n), and in the aforementioned 109, regarding 071aR, of MW 1°21 WP 12 2w, the P1od concludes
7732 . It seems to be the same city in 2°nw?s yaX. Concerning x>, we are taught that he never left »"x.
Hence 773 which is between 73m 0P is in *"& and we may conclude the same concerning 73m op-.
' In the 0>p105 that Mo quoted previously from '31 2,3 ye it speaks about the land of 2°nws that was
not yet conquered: 13 2°NWL5 310 NWAM 1N QXNWDOT NN NIRWIT PIRT NNT.
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— SNV NN HY 299 9120 NN DINVYD D1

For the sea of 2°nwvs is the western border of '®5""R. Therefore this 23m o7
that is part of >"X and was part of 2°>nw9s, which is the western part of "X, is certainly not
the 23m apn which our 71w discusses, for —

= NI 0P 1299NRTI NI NN PHNINNT N OPN

The 2371 277 of our 71w» was in the easterly" direction from *"X as we say

in our 71w that ap9 is considered east of >"x. Obviously it is not the same 2p7
23 of PriX™ onnaR in 2°nwHs R, Therefore we can easily say that the opa of the *190 is
the opn of o°nwHs, while the opA of our mwn is a different city, to the east of *"x.

mooIn concludes at present his discussion of ap1 and addresses the status of 12v.
— 923 "91¥ 1MWAST 2) DY 4N 19y

And concerning 12y, even though the »22 "»w conquered it, giving it
therefore the status of *"'X, why then does our 71w consider 15¥ as 2"n? MvOIN goes on to
show that 15¥ (was conquered by 922 °2 and) is considered part of *"X.

=299 9% PVYIN NN NAN 229 (x,20p 97 MAINI 9102 9INTD

As the X713 says in the end of n2wn> noon, that Xar 529 would Kkiss the
stones of oY, because of >"X nwITp.

mooIn offers another proof that 12v is part of *"X
— 197 INIYI NIN IND 1997 NIIMY 7599 (2,08 91 10p5) TANRY 1 9992)
And in nARW % P99, the X713 asks: ‘do you mean to say that 1Y is not
part of 5"'R?! —
= Y1999 99919 NN 12¥a YT9D1 1229 29V9) NN I NN
But when the 3329 would take leave from one another, i.e., the 127 from

"X and the 73127 from "7 they would take leave from one another in 12¥°.
This was because —

— NIND YINY HNIY? NIND NNYY 9IONRY 29Y
For it is forbidden for one to leave from >"'X to go to »''11, therefore they said

N

their good-byes in 10y, which was still in
DY as 2"n?

X. The question is; why does our 71wn consider

nv0IN answers:
— NINRD YINA N8N NIND N8N NNN IYT 270 NYP NIT 0N 1939 N

'8 See XY ,30 DwoWwn where it states: "D NWYD 0° 791 1A 72123 DR NN

" See ‘Appendix’.

20 According to the first interpretation of *"w1 in M21n3, the *9°3 are 0°1M7X; translated as coral.
4

TosfosInEnglish.com



T2PWRY 17 'O R,2 P0A .7"02

The n''9 said that there is no difficulty at all, for oy was situated half in
*"'} and half in ®"'7 -
— "YW NIIMTI
as is evident from the *'9»5w13. This will therefore resolve the difficulty -
— YIND NYINAY 1Y ININD 9999 NN
For here in our 71w»n where 0¥ is considered ", that is because we are

discussing the northern part of 10v that was in %" 1. The other places which
indicate that 10¥ is part of *"X were discussing the southern half of 10¥v.

mooin digresses and asks:
— PNINM (ow) NNNY 02 133 WM XYT XM
Why then did not the x»3 also use this same answer® to explain the

3w in BARY 2795 in the case where a man (who was preparing to go on a trip to
5"1) gave a va to his wife and made the following stipulation -

- N3N 513 9N 195 Wa o1 DrIwLY 1 IN9N YNNI NY ONY
that if I do not come back from "1, starting now and up to thirty days,
then the v will be valid®, If however I will return (from ") before the
thirty days are up the v is 202, and the person reached 1>¥ (on his way to
5"n), and immediately returned home; the m1wn rules that he nullified his
265%3n and the vs is 2ova. Concerning this "7, the X713 asked (quoted previously in this
mooIn) this seems to say that 13v is in 2™, for if 19¥ were in *", then he did not invalidate
his *Xin because he never really left (°"X), for his *Xin was, that if T come back from %"
(within thirty days) then the v3 is %03, but not if I come back from taking a short trip in
"%, The X3 there offers an explanation to resolve the difficulty. However mooin
question here is; that since we are now saying that half of 10y is indeed in "1, the Xn)
could have simply answered that when the 711wn said he reached 12y —

— NIND NYINIY T INMND 139D
That means that part of 12 that is in %'\, and therefore if he returned within
thirty days from the part of 10¥ that is in 5™, it is understood why the v is 203, since he

2L (3,1 97) 2" R"D PO WYY

2 That we are discussing the northern part of 12v, which is 2"

29w 0w 8, P

* The 5w 2" inserts: (3°37) 27 NI TAY Tom.

 His intention presumably being, that if he did not return within thirty days, he may never return, and he

does not want his wife to remain an 713y.

*® He was not away from his home in 2" for more than thirty days.

" The v3 may not be used again.

*® The w3 should still be valid if and when he now proceeds on a (new) trip to 2" for more than thirty days.
5
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reached "1 and returned before the expiration of the thirty days.

mooIn explains that the reason the X713 did not give this answer is because —
- INIYO NIN DV I8 ININD NDONH YN INIYS YIND REAT DIVN 19D

That when one leaves from "X to go to 2" via 109, he is traveling in a
northerly direction and he first reaches the southern part of 12v, which is the
S''R side -

—9Y NIINNY YRYN 19T YN
And the expression that the 7wn used: “and he reached 12y, indicates

that he approached the beginning of ¥, and then without continuing further
north inside 0¥ towards the 7" side he returned, in that case he never left >"X. Therefore
the X773 cannot say that the 71wn is discussing a case where he went until the northern
part of 12¥ which is 9", because the phrase 21 12v% ¥, indicates that he just reached
the southern part of 12¥ (which is still in >"X), and immediately returned back home. That
is not sufficient reason that the v3 should be 913, since he never reached 5" .

mooin asks another question:

— PNYIN 24 19395 ©393 3,091 12PY IMINT PN 19939 QWP N
However the %' has another question; the X713 says later on, concerning
a person who brought a vx from °X0°0 193, and 2Xy»w° °27 ruled that he has

to say 1"921 1"93, the X3 continues; *X¥?KR 27 entered to speak to Rynw® ™,
and question his ruling —
- 99993 A1) NAYY NP INIYS NIN DINNHA ¥U21 INDID 993 XY 1Y 90N

X"9 said to *", is not "X2°0 "85 surrounded™’ by the borders of "X, and

"XD°D 793 is closer to *'>11p¥, more than 15¥ is close to ™o, And if concerning
10v, the view of n"7 is that it has a 77 of *"X, then certainly *X0°0 792 should have a 77 of
"X even according to the Xnp Rin.

Moo now asks:
— NOYY Y19Y DY Y91 793 I
But what of it, that °X0°0 99> is closer to 719X than 1OV is; nevertheless 12
is more preferable to be considered part of >", regarding 1"52 than >X0°0 793 -
— HNIYI NINI O8N DNNY RODY YN NPINT NIDVY 29 Yy 9N

* In our texts in the X3 it reads: "NyoX'.
%% The term y921 (literally swallowed), means that the city is outside the borders of *"X, but it is swallowed
or surrounded by *"X on three sides, similar to the dot in the letters 2 or 2.
3! >910% was at that time the main settlement in *"X. See our Moo later on.
6
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Even though 1V is further from 7192 than "X0°0 793, still it is preferable
because half of 12y itself is part of >''X. However >X0°0 193 is completely outside
"X, so how can we understand s"Xy?R " question3 291
MooIn continues with another question in the same vein:

— MYPNY R NINOY 1T7aY 99T 06,0 91 YAPY 7957 5950 Ty
And furthermore how does the X771 later on, infer that if someone (who
lives in °"X) sells his °1v1> 72y to someone who lives in 33N’W:, the 72y
becomes automatically free.”* This 7 is derived from our mawn -

— N9 D725 1IN PV PO INIYS YIND 19Y )INT)
since it is written in our 771w, that n"9 says, that 12 is considered part of
>R in regards to v, we may infer since the 71wn adds the word w3, this
teaches us that regarding y°w, 12v is considered part of °"X, however

regarding the rule of selling slaves to "1, 10¥ is not regarded as *"X, but rather
like 5", and if someone (who lives in >"X) would sell his 72¥ to an owner in 10y, the 72v
would be freed —

— N2V XPNINT NIV )9V Y

And certainly if one sells his 72¥ into 819, the 72v will be free, since X0

is much further from >"x than 15v. This is the s') 3 inference. M0 now poses his
question:

— 35§ANY NYIN HY 182 399N PNINDT 11D NOYTY NIND Ha91N

On the contrary! 810 is preferable to be considered "X more than 12.

maoIn goes on to explain why X710 is preferable since in our 7w», we are

discussing the ya8> vy side of 1oy, therefore it is self-evident that X0 is

preferable to be considered part of >"X -
= DNV NIN NNNY NI NN WIAD NIY 1IN ¥ID 420D

For the one who asked; what is the 17 if someone sells his 72¥ into X710, is

32 At this point 'on assumes that the criteria of saying 1"92 is based solely whether the place is, or is not,
part of *"X. Therefore 12y which is half in *"X, so even the part which is in "1 (whether that part was ¥721
or not), should be considered more part of *"X, than *X010 793, which was totally outside the borders of *"X.
¥ %0 is a country which T9n7 717 conquered, not as part of the regular conquest of *"X. It is called a 212°
71 — “an individual conquest” — as opposed to the regular conquest which is termed 2°27 w12°3. X110
therefore had a ‘mixed’ status; in certain respects it was treated like *"R, and in others like 2"1. See the X7m)
®,n for more details.
** The nmwn in (2,3 1p2) M2Wwn P19 states: that if someone sells his "w3> 72y into " the 7av is freed
automatically. This is a 01p, for since an *1v13 72y is also Mx»2 2117 it is forbidden for him to leave *"& for
5™ n. In the X7n3 on X,1, we are discussing what is the 17 if he was sold into X*710.
* As '0I1n previously stated "yIXY 7¥IMaW T3 10X *n X9M". This would also apply to the inference that
Mo ¥ 1OY7 172V 1917 that it would be concerning the "1 part of 1ov.

7
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of the opinion that the conquest of an individual such as 797 717, is

considered a valid conquest and therefore X>710 itself is part of °"'R -
= W2 PIYT 11 INIYI NIND 17aY 99110 M1 IN 1Y NIy Y91YT

for that was the basis of his query if selling a slave into X710 would be as
if he sold his 72y in >'"'R; the reason for this is since the questioner was of

the opinion that 7r° w12°3 is considered a proper *°@13%3, and X0 is part of *"x
and an 72y sold there is not freed -

= 997 NIND NNIND NNV NI9YT 1990 N1IDT IN
Or perhaps (the other side of the issue), since the earth of X0 is X»® as in

all of "> therefore 8" 10 would be considered as 5", and the slave would
be freed.

To summarize these last two questions: If we are to assume; a) that the entire basis of
saying 1"91 is based on whether the city is within the borders of "X, and therefore we are
also forced to assume b) that 10¥ is half in °"X and half in "1 and in our 7Iwn we are
discussing the half that is in 2", then we have the following two problems.

1. Why would *X¥%X " insist that one does not have to say 1"92 from X010 195 because it
is closer to 11X than 12V is, but *X0°0 793 is in 2™ and half of ¥ is in *"X. This runs
contrary to both assumptions mentioned.

2. How can the X3 infer from »n" than since 10 is considered 2" regarding 072y, so
certainly X0 should be regarded as 9"n; however since X0 is 7> w12°> which we
assume is 123 7°nw so X710 is at least ‘technically’ °"X, while as we said in assumption
b) that we are discussing the part of 15¥ which is "1, how can we derive 10 which is
"X from 12y which is %",

moon will now retract these two assumption, thereby not only answering these last two
questions, but all the questions that were posed in this md01n

— 99191 AN9) 393 92V 29N INIYH NIN DY 183 15aNT PNYY 13929 9IN)
And the "9 said that even in the >''R side of DY one is required to say

1"'B2 etc. (this is the retraction of the two previously mentioned assumptions) — the
reason for having to say 1"92 even from the >"X side of 12V is —
= INIYY NIN 1YWY 9PN PINDY D12)N 9IDa NNV *9)

For 1Y is at the extreme border of °'X and it is far from the main

3 For if w123 aw &Y 70 w12°), what would be the reason to even think that >0 should be like °"X, and
not like 5".
7 The o*»on made a 7713 that in all of 5" the earth of the ground is Xnv. This decree extends to X>M0 as
well, whether or not we maintain ¥12° 7°2% 7°1° W12°0.
¥ See “Thinking it over’ # 2
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settlement of >''N -
— 057 5N2) MAXWIN I A
And it is removed a great distance from the *’ma»w> and *'2%77 *na.

The last question concerning X710 is now answered, because the 71wn is now discussing
also the part of 12¥ that is °"X, and therefore we can derive from n"9 that if even the >"X
part of ¥ is considered 7™n in regard to 0°72y, then certainly X0 which has a lesser
status of *"X will be considered 2" regarding 0°72v.

— 92N OPN PIPYN 23X NINY W 1D
And we can give the same answer concerning 1»pws, and “3m ap9; that
even though they may be ‘technically’ part of *!>"X, nevertheless since they are “p*¥n P10
"X 2w like 10, one must say 1"92 if a v is brought from these cities. It is not necessary
to give the answers that mo01N gave above; i.e. that the 922 *21% were not N7?PWR w13; or
that there were two 2am op-.

moon will now answer the question regarding X010 792.
— POY P9 NNYN)
And now*? we understand that *xy°x "1 asked a valid question to 5xynv» A -
— 19913 790 NI NIN AW POy NIPAY YNY 21957 INDID 995
That since "R®1® 992 is close to >m2%, which 719X was the main settlement
in °"'R, and >R010 792 was closer to *19¥, more than 2¥ was close to "% -
— YNV NIN AW 9PN PINTT
For 1oy was far from the "X 312 995, so therefore —
— YINY NN NN INDID 9999 PHNIYS YIND NINY NI 19IPT 23 Y N
Even though 12y itself was part of >"'X and 8210 752 is %" -
— NYYINT 1YY P 1 V9V VIV DIPN YN
Nevertheless Xy»X ' derived the 770%7 properly that X010 192 should not

say 1"92 since °Xy?°X ' was aware that >X010 19> was ¥921% within the
boundaries of *"X

% This necessitates saying 1"53 according to the reason of 7w PX'P2 PX.
0 This necessitates saying 1"93 according to the reason of 1P P11 D*7Y PX.
* See previous o1 n37an 7"7 Moo, which is seemingly of the opinion that 1xm opA are in ™.
** That we say that saying 1"52 is not entirely dependent if you are in 2", for we see that from 19y (and
perhaps from N7pwx and opn) one has to say 1"92 even if they are "X, so we can even go a step further, that
there may be places from 2" that do not require saying 1"93, if they are so close to *"X (that they are X°pa
7nwh and there are M»pY 1M¥n 27Y).
* See w"wA that perhaps even according to the *" the entire 129 is considered v *"X> (even the "1 7¥).
This would resolve the 121 2"yX of moon.
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= 9991909 YNDY MPDIIM MINRT HNTN) 1295 INIYS NIND WHN NN 1IN 20N
that is sufficient not to say 1"93, as if it were actually part of >'"R, like
Ha1a of our 7wn, who maintains that from 2712 93 which is Y92, one
does not have to say 1"93, because in cities that are nw®am in the
boundaries of "X, there are frequent travelers who recognize the
signatures, and they are versed in the laws of mnw>.

mooIN poses a new question:
— TINY RY 19¥Y 1713y 99191 0TI 9INRT 9NN ON)
If you will ask; it says in 25217 if one sells his 11> 72p into 10v, the
slave is freed automatically
— 9997 9991 I2AN 9IIN )17 2297 AN )IYNIY 239
@' the father of 37 '3 says that even if the slave was sold from the part
of 1oy that is in *"X to the part of ¥ that is in 5™, the slave is also freed.

nooIN asks:
— MINY RY INIYI NIN JY T8 ININD 1799NT 1199
and since even if the slave was sold into the part of 10V that is in 'R the

slave is freed; indicating that as far as selling slaves are concerned we consider the
entire* 1oy as if it is 2™

— XIND NHND BPUNT 112 ;PN XYY INBN 1945 191 12 ON
if so, why is it that if the slave was sold from the >"X part of 12y to the "

side of 12y he is freed, since we are considering the *"X part of 1ov as %',
as witnessed by the fact that a slave sold (even) to the "X part of 12V is freed. Therefore if
one sells his slave from one part of 10¥ to the other it is as if one sells his slave from one
part of 5™ to another, in which case the slave is not freed.

noIN responds:
— HNIYI YIN 2IWS 9P0¥ 223D NINY NRIND BPYNT 33T 1Y YN
And one can say; granted that (even) the part of 10¥ in *"X is considered

5"y in relation to the 'R 292 99, so regarding the selling of slaves 12v% *"x» he
is freed -

— HNIY YIND 2PUN NI NIND ANIN )Y

* See “Thinking it over’ # 3
* The "3 just concluded that our 7awn is discussing (even) the "X part of 12y, and we infer from the
statement of 1" that 1035 9X7W> yR3 12¥ that X7 0°72v7 1°X P2, It follows that this derivation is regarding
(even) the *"X part of 10¥.

10

TosfosInEnglish.com



T2PWRY 17 'O R,2 P0A .7"02

Nevertheless, in relation to %', it is considered >'"'X; therefore regarding
selling a slave from one part of 13¥ to the other, the slave is (also) freed*.

SUMMARY

The three cities of (7am) P2 ,N7PwR and 1Dy were part of *"X. Regarding
TOPWR, it is written in YW1 that N2PWR DX "3 7707 719771, Concerning opA it
says in *790 that it is among the cities that %22 *21w mwad. Concerning 1Y we
find that the X723 refers to 12¥ as a part of >"X then, saying that XaxX " kissed
the "2 of 10v, and also that the 7127 took leave of each other in 2.
Nevertheless one is obligated to say 1"92 if he brings a Vi from any of these
cities. There is a difference of opinion between the n"7 and the >"9 why this
1S SO.

The n"9 maintains that any city within the borders of *"X that 922 "9y mw2a>
1s not required to say 1"92. Otherwise one is required to say 1"92. Therefore:
12PwR which the %22 "9 were not w213, is required to say 1"52. (7amM) 0P in
our 7wn is referring to the 7am apA east of °"X which is not part of *"X, as
opposed to the 72m op1 that is in the western part of °"X, also known as 77X
o°'nw?s. Concerning 10¥ it was divided into two parts, one in "X and the other
in 5" and our mwn is discussing the 5™ part of 15y, therefore he is required
to say 1"92.

The " argues that if we maintain that the 71w is discussing the "1 section
of 12v, then we will have difficulty understanding two M n3; the case of 192
'X0°0 and the case of X109 172y 7917, which the mani there derive the
respective rulings, from 1oy,

Therefore the "7 maintains that saying 1"91 is not solely dependent on
whether the city is actually inside or outside the boundaries of *"X; rather it
depends on the proximity of that location to *»"x 21w 2p*y, for that alone
will decide if "°nx1 °m°ow'. According to the > it is possible that N7pwR was
922 7w ymwad, and opA is part of "X, nevertheless they say 1"92 since they

* There may be two (distinct) aspects to the prohibition against relocating from *"X to 2"11; a) the my» ovp
may not be so strictly enforced in 2", due to the lack of 0°1°7 °n3, etc., and b) one cannot observe in 2"
the Y82 n™M2n7 mxn. Therefore it is forbidden to sell an 72y from >"X proper to the part of 12¥ which is ™"x,
on account of reason ‘a’ (only); it is nevertheless also forbidden to sell a slave from the >"X part of 12¥ to the
5™n part, on account of reason ‘b’ (as well).
* See the summary '01077 0°392 previously.
* This may also be an alternate explanation why the 73w» say >"77an b3 X7 and not Y"1, See previous
g atalala i lelis}
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are far °"X 21w 7p°vn. Pertaining to 12Y, the > maintains that the entire 129,
including the °"X side must say 1"93, again because it is "X 2 pvn PN,
and therefore the people there are not "3 °2w.

However even though the entire 12v is deemed like "1 (including regarding
the sale of slaves), nevertheless, a slave which is sold from the >"X side of 0¥
to the 5™ side is M7 R¥Y.

THINKING IT OVER

1. The order of the cities as they are enumerated in our mwn is ,(7am) oP"
1opwR and lastly 10¥. Why does mooin ask first about 1"opwx and only later
about ¥0p1?

2. It would appear that the two n1wp of the > regarding *X0°0 792 and X710,
are contradictory.” In the X°wp concerning *X0°0 793, the "7 maintains that
since 10¥ 1s half in °"R 1t should be considered *"X more than *X0°0 793; and in
the X°wp from X0, the °"1 maintains that since 12V is half in "1, it should
be considered "1 more than X110! How can we reconcile this? X% 572!

3. When the >"1 explains the question of *X¥y?°X ", he states that 7°% D7 11°2
"1 myHaT therefore one does not say 1"93; and '0)n concludes nR7 3"™2"
"an mraw myeam;’ why mention 3" at all, the p"n also agrees that
my2211 do not say 1"92?

4. According to '01n, that even if one sells his 72 to the "X side of 1D¥ he i1s
Mm% XYY, because we consider it 2" and it is forbidden to go from "X to
5", then how come the 1127 departed from each other in 13y, it should be
considered 2", where one is forbidden to go5 29

APPENDIX
It is not clear as to what is the status of (2p7) w7p, mentioned in Y17, which
mMoon quoted previously. Some commentaries say that it is the same 27

* See x"wn.
0 See footnote # 38.
3! See footnote # 44.
32 See X"wAn.
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23m of 0712K in 2°nwHs 7R, Even though the land of *2ns1 was bordering the
%79, which is more east than o>nw9s (and in addition the w7 in YW was
in the 993 (the northeast part of °"X), which is seemingly very far from
°'nwoo), nevertheless they maintain that while 2°’nwYn was at the western
part of *"X, a swath of land extended eastward towards the 777 which was
still part of 2>nwHs, and that is where 23m 07 or 7121 WP were.
Alternatively one may say as follows: That in the X"1;77 when M20I1n assumed
there was only one 0P (W7p), he assumed that the w7p in YW is the same
wIp as by o77aX and the mwn, even though the word wip in ywiT is
vocalized differently (two 2°70) than the wip by onmnaR (ynp and %),
nevertheless Mmoo felt that this should be overlooked, rather than saying
that there are two cities called w7p. However once mooin establishes that
there are two (W7p) op7, one then may consider that the w7p in YY1 is an
entirely (third) different city, not connected with either op7 being discussed.
Supporting this idea is the fact that the 21370 of the w7 quoted here in Y17
(1,0) is (not apn but) wp, as opposed to the 1370 of WP everywhere else
(including in 3 Y0 YW1 where it states ¥172 w7p%) where the 011n is opA.

Or one may say that indeed the w7p of Yw17 is the same as the opa of our
mawn, which is in the eastern part of *"X, however this op1 - w7p, 1MW2d R
922 °9y, Therefore it is now 9™n, as opposed to the op7 in 190, which is in
D NWD PIR as MooIn states, and that is in the (south) western part of *"X,
which %22 °5w ymwad.

3 See To-30 0> YW
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